


UNIT 42 too/either, so am I, neither do I etc. 

We use too and either at the end of a sentence. 

I’m happy. I’m happy too. 



       I enjoyed the film. 

       I enjoyed it too. 

A 

B 

We use too after a positive verb. 
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UNIT 42 

We use too and either at the end of a sentence. 

I’m not happy. I’m not happy either. 

too/either, so am I, neither do I etc. 



       I can’t cook. 

       I can’t either. 

A 

B 

We use either after a negative verb. 

UNIT 42 too/either, so am I, neither do I etc. 



UNIT 42 

so am I / neither do I etc. 

So am I. I’m happy. 

too/either, so am I, neither do I etc. 



       I was late for work today. 

       So was Sam.  

A 

B 

so am I = I am too / so have I = I have too (etc.) 

UNIT 42 too/either, so am I, neither do I etc. 



       I work in a bank. 

       So do I. 

A 

B 

so am I = I am too / so have I = I have too (etc.) 
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UNIT 42 too/either, so am I, neither do I etc. 

so am I / neither do I etc. 

Neither am I. I’m not happy. 



       Kate can’t cook. 

       Neither can Tom. 

A 

B 

neither am I = I’m not either / neither can I = I can’t either (etc.) 

UNIT 42 too/either, so am I, neither do I etc. 



       I never go to the cinema. 

       Neither do I. 

A 

B 

neither am I = I’m not either / neither can I = I can’t either (etc.) 

UNIT 42 too/either, so am I, neither do I etc. 





Answer with So... I (So am I / So do I / So can I etc.). 

Exercises 42.2 

1 

I went to bed late last night. 

_______________________. 



Answer with So... I (So am I / So do I / So can I etc.). 

Exercises 42.2 

2 

I’m thirsty. 

_______________________. 



Answer with Neither... I. 

Exercises 42.2 

7 

I can’t go to the party. 

_______________________. 



Answer with Neither... I. 

Exercises 42.2 

8 

I didn’t phone Alex last night. 

_______________________. 




